y 4 ART. 36015, 3601501
&7

SIROCCO MINI CLIP-ON

NAVOD K INSTALACI

Dékujeme, ze jste si vybrali produkt od firmy Controltech. Pfi spravné instalaci a udrzbé vas odméni bezproblémovou jizdou a pfijemnymi pocity.
Abyste maximalizovali bezpec¢né uzivani tohoto produktu, prectéte si a vénujte pozornost nasledujicimu navodu pro instalaci a v ném obsazenym pokyndm a varovanim. Pokud tak neucinite,
mUze dojit nadmérnému opotiebeni nebo selhani, coz mlze vést k poranéni.

NAZEV MODELU / CiSLO MODELU
Sirocco Mini Clip-on / TTH-19 (C Objimka)

DiLY

@ Mini Clip-on 1x

@ Nosnik loketni opérky 2x

® Sroub nosniku opérky M5x12 2x
@ Loketni opérka 1x

® Velkro (o¢ka) 1x

® Velkro (hacky) 1x

@ Sroub C objimky M5x50 4x
Vrchni C objimka 2x

® Spodni C objimka 2x

INSTALACE

1. Sestavte vrchni C objimku (8)a spodni C objimku(9)
s Mini Clip-on (1)a postupné utahnéte srouby M5x50(7)
maximalni utahovaci silou 5Nm

2. Pfipevnéte nosnik loketni opérky (2) na Mini Clamp-on (1)
utazenim 2 $roubl M5x12(3)

3. Upevnéte loketni opérku (4)na nosnik )

Dovozce / Importer

KCK Cyklosport-Mode s.r.0., Barto3ova 348, 765 02 Otrokovice-Kvitkovice, CZ
www.kckeyklosport.cz, www.force.bike

Zemé plvodu Taiwan / Made in Taiwan




A
y /

Sirocco Mini Clip-on Installation Instructions

Thank you for choosing this Controltech. With proper care and installation, it will give you trouble-free, enjoyable use.

ART. 36015, 3601501

In order to maximize the safe enjoyment of this product, you should read and carefully follow the following installation instructions and warnings. Failure to do so could result in unexpected wear and/or failure, possibly resulting

in injury.

Controltech warrants this product to be free from defects in materials and workmanship for a period of two years from the date of purchase when purchased from an authorized Controltech dealer. This warranty is extended only to
the original owner of the product and is not transferable. Proof of purchase is required for any warranty service, so be sure to keep your receipt.

This warranty does not cover cosmetic or structural damage arising from misuse or abuse, including damage caused by crashes, jumping and landing, front end impact, falls or any other collision, owner neglect of regular
maintenance, improper installation of parts and accessories. Controltech makes no warranty if modifications, changes, additions or substitutions are made to any components. Wear from normal use or exposure to environmental
elements is not covered by this warranty. Controltech makes no warranty against any incidental or consequential damage to bike or parts, or rider injury caused by defects as covered in this warranty.

Model name / Model no.
Sirocco Mini Clip-on / TTH-19 (C Clamp)

Part

@ MiniCliponxl -

@ Elbow pad cradle x1 -

® M5 bolt for pad cradle(12mm) x2 -
® Elbow pad x1

® Velcro(Soft) x1 -

® Velcro(Prick) x1 -

@ M5 bolt for C clamp(50mm) x4 -

C clamp x2 -

@® Lower clamp x2 -

Installation

1. Assemble the C Clamp ® with Mini clip-on @ by tightening
4 M5 bolts @ (Max torque: 5Nm).

2. Assemble Elbow pad cradle @ on the Mini clip-on by
tightening 2 M5 bolts ®.

3. Attach the Elbow pad @ to the cradle.

www.controltechbikes.com

LTI
- waTH/



4 ART. 36015, 3601501

al

SIROCCO MINI CLIP-ON

NAVOD K INSTALACI

Dékujeme, ze jste si vybrali produkt od firmy Controltech. Pfi spravné instalaci a udrzbé vés odméni bezproblémovou jizdou a pfijemnymi pocity.
Abyste maximalizovali bezpec¢né uzivani tohoto produktu, pfectéte si a vénujte pozornost nasledujicimu ndvodu pro instalaci a v ném obsazenym pokyndm a varovanim. Pokud tak neucinite,
mUiZe dojit nadmérnému opotiebeni nebo selhdni, coz mize vést k poranéni.

NAZEV MODELU / CiSLO MODELU
Sirocco Mini Clip-on / TTH-19 (obld objimka)

@\@, @@ DiLY PRISLUSENSTVI (VOLITELNE - NENi

@ Mini Clip-on 1x SOUCASTI BALENI)
g @ Nosnik loketni opérky 2x ® PodlozZka hranaté objimky nizkd 1x
‘\5‘4} ® Sroub nosniku opérky M5x12 2x ® Podlozka hranaté objimky vysoka 1x
l\%)) @ Loketni opérka 1x Spodni hranata objimka 1x
® Velkro (o¢ka) 1x ® Srouby hranaté objimky M5x18 4x

® Velkro (hacky) 1x
@\! 111 @ Vrchni objimka 1x
Podlozka vrchni objimky 1x
®@ Podlozka spodni oblé objimky 1x
Obla spodni objimka 1x
@ Srouby spodni oblé objimky M5x16 4x

T
NV W VA \#

\

INSTALACE

1. Ujistéte se, Ze je télo predstavce oblé

2. Sestavte Mini Clamp-on (1) s vrchni objimkou @,
podlozkou vrchni objimky (8), podlozkou spodni oblé
objimky (9)a spodni oblou objimkou (10) a postupné
utahnéte 4 Srouby M5x16 (11) maximalni utahovaci silou 5Nm

3. Pfipevnéte nosnik loketni opérky (2)na Mini Clamp-on (1)
utazenim 2 droubd M5x12 (3)

4. Upevnéte loketni opérku 4)na nosnik (2)

Dovozce / Importer

KCK Cyklosport-Mode s.r.0., Barto3ova 348, 765 02 Otrokovice-Kvitkovice, CZ
www.kckeyklosport.cz, www.force.bike

Zemé plvodu Taiwan / Made in Taiwan




y /
‘ Sirocco Mini Clip-on Installation Instructions

Thank you for choosing this Controltech. With proper care and installation, it will give you trouble-free, enjoyable use.
In order to maximize the safe enjoyment of this product, you should read and carefully follow the following installation
in injury.

Controltech warrants this product to be free from defects in materials and workmanship for a period of two years from
the original owner of the product and is not transferable. Proof of purchase is required for any warranty service, so be
This warranty does not cover cosmetic or structural damage arising from misuse or abuse, including damage caused

ART. 36015, 3601501

instructions and warnings. Failure to do so could result in unexpected wear and/or failure, possibly resulting

the date of purchase when purchased from an authorized Controltech dealer. This warranty is extended only to
sure to keep your receipt.
by crashes, jumping and landing, front end impact, falls or any other collision, owner neglect of regular

maintenance, improper installation of parts and accessories. Controltech makes no warranty if modifications, changes, additions or substitutions are made to any components. Wear from normal use or exposure to environmental
elements is not covered by this warranty. Controltech makes no warranty against any incidental or consequential damage to bike or parts, or rider injury caused by defects as covered in this warranty.

Model name / Model no.
Sirocco Mini Clip-on / TTH-19 (Round sclamp)

Part Accessories (Optional, not included)
@ MiniCliponxl - @ Square clamp pad Short x1 -

@ Elbow pad cradle x2 - @ Square clamp pad Tall x1 -

® M5 bolt for pad cradle(12mm) x2 - @ Lower Square clamp x1 -

@ Elbow pad x2 ® M5 bolt for square clamp(18mm) x4 -

® Velcro(Soft) x1 »

® Velcro(Prick) x1 -

@ Upper clamp x1 -

Clamp pad Upper x1 -

® Round clamp pad Lower x1 -

Round Lower clamp x1 -

@ M5 bolt for round clamp(16mm) x4 -

Installation

1. Ensure the stem body is round type.

2. Assemble Mini clip-on @ with upper clamp @, clamp pad
upper ®, Round clamp pad lower ®, and Round lower clamp
in sequence and tighten 4 M5 bolts @ (Max torque: 5SNm).

3. Assemble Elbow pad cradle @ on the @ Mini clip-on by
tightening 2 M5 bolts®.

4. Attach the Elbow pad® to the cradle.

www.controltechbikes.com

LTI

AT/



4 ART. 36015, 3601501

al

SIROCCO MINI CLIP-ON

NAVOD K INSTALACI

Dékujeme, ze jste si vybrali produkt od firmy Controltech. Pfi spravné instalaci a udrzbé vas odméni bezproblémovou jizdou a pfijemnymi pocity.

Abyste maximalizovali bezpec¢né uzivani tohoto produktu, prectéte si a vénujte pozornost nasledujicimu navodu pro instalaci a v ném obsazenym pokyndm a varovanim. Pokud tak neucinite,
mUze dojit nadmérnému opotiebeni nebo selhani, coz mlze vést k poranéni.

NAZEV MODELU / CiSLO MODELU
Sirocco Mini Clip-on /TTH-19 (hranata objimka)

DiLY PRISLUSENSTVIi (VOLITELNE - NENi

@ Mini Clip-on 1x SOUCASTI BALENI)

@ Nosnik loketni opérky 2x ® Obla spodni objimka 1x

® Sroub nosniku opérky M5x12 2x Podlozka spodni oblé objimky 1x

@ Loketni opérka 1x ® Sroub spodni oblé objimky M5x16 4x

® Velkro (o¢ka) 1x

® Velkro (hacky) 1x INSTALACE

@ Vrchni objimka 1x 1. Ujistéte se, e je télo predstavce hranaté

Podlozka vrchni objimky 1x 2. Sestavte Mini Clip-on (1 s vrchni objimkou (7)),

© Podlozka hranaté objimky nizka 1x podlozkou vrchni objimky (8), podlozkou spodni

Podlozka hranate objimky vysoka 1x objimky nizkou (9) (3itka téla predstavce pod 36

© Spodni hranaté objimka 1x mm), nebo podlozkou spodni objimky vysokou

@ Sroub spodni hranaté objimky M5x18 4x | (sitka téla predstavce nad 36 mm) a spodni hrana-
tou objimkou (11, a postupné utdhnéte 4 $rouby

M5x18 (12) maximalni utahovaci silou 5Nm.
® @ Sitka predstavce min. 36 mm

((0) @ Sitka predstavce vétsi nez 36 mm |

3. Pfipevnéte nosnik loketni opérky (2)na Mini Clamp-on
(1)utazenim 2 $roubd M5x12(3)
4. Upevnéte loketni opérku (4)na nosnik(2)

Dovozce / Importer

KCK Cyklosport-Mode s.r.o., Bartosova 348, 765 02 Otrokovice-Kvitkovice, CZ
www.kckeyklosport.cz, www.force.bike

Zemé plvodu Taiwan / Made in Taiwan




y /
‘ Sirocco Mini Clip-on Installation Instructions

Thank you for choosing this Controltech. With proper care and installation, it will give you trouble-free, enjoyable use.
In order to maximize the safe enjoyment of this product, you should read and carefully follow the following installation
in injury.

Controltech warrants this product to be free from defects in materials and workmanship for a period of two years from
the original owner of the product and is not transferable. Proof of purchase is required for any warranty service, so be
This warranty does not cover cosmetic or structural damage arising from misuse or abuse, including damage caused

ART. 36015, 3601501

instructions and warnings. Failure to do so could result in unexpected wear and/or failure, possibly resulting

the date of purchase when purchased from an authorized Controltech dealer. This warranty is extended only to
sure to keep your receipt.
by crashes, jumping and landing, front end impact, falls or any other collision, owner neglect of regular

maintenance, improper installation of parts and accessories. Controltech makes no warranty if modifications, changes, additions or substitutions are made to any components. Wear from normal use or exposure to environmental
elements is not covered by this warranty. Controltech makes no warranty against any incidental or consequential damage to bike or parts, or rider injury caused by defects as covered in this warranty.

Model name / Model no.
Sirocco Mini Clip-on / TTH-19 (Square sclamp)

Part Accessories (Optional, not included)
@ MiniCliponxl - @ Round Lower clamp x1 -
@ Elbow pad cradle x2 - @ Round clamp pad Lower x1 -

® M5 bolt for pad cradle(12mm) x2 - ® M5 bolt for round clamp(16mm) x4 -
® Elbow pad x2
® Velcro(Soft) x1 »

® Velcro(Prick) x1 -

@ Upper clamp x1 -

Clamp pad Upperx1 -

® Square clamp pad Short x1 -

Square clamp pad Tall x1 -

@ Lower Square clamp x1 -

@ M5 bolt for square clamp(18mm) x4 -

Installation

1. Ensure the stem body is square type.

2. Assemble Mini clip-on @ with upper clamp @, clamp pad upper
®), Square clamp pad Short @ (Width of stem body less 36mm),
or Square clamp pad Tall @ (width of stem body more than
36mm) and Lower square clamp @ in sequence and tighten 4 M5
bolts @ (Max torque: 5SNm).

® @ Stem width less 36mm use

® @ Stem width greater 36mm use |‘ |

3. Assemble Elbow pad cradle®@ on the Mini clip-on by tightening
2 M5 bolts®.

www.controltechbikes.com

4. Attach the Elbow pad@ to the cradlem ””
LTI

e aTH/



